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Now, there are equal number of npg)

Neha took 1 apple both the baskets, The symbol (=) MGANS
from basket A, that the numbers on its sither side are
equal, 6.9 4«4

o g Exercise } g

Put the sign ‘=’ or '=’,
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7 is greater than 4.
5 is greater than 3. 7(>)4
5(>)3

| am not that hungry. -
LESS THAN : The symbol for ‘ i w”'nzar:as |
is less than’ is <. A . o

4 is less than 7.

6(<)8 4(2)7

6 is less than 8.

Remember! Broader side of the sign indicates the greater number.

Pointed side of the sign indicates the smaller number.

(Exercize B

Put the correct sign >, < or = (Greater than, less than or equal to)

@) 11 €M<Y 19 () 53 (=) 53
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